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INSTRUCTIONS TO CANDIDATES

1. Immediately after the commencement of the Examination, you should check that
this Booklet does not have any unprinted or torn or missing pages or items, etc.
If any of the above defects is found, get it replaced by a Complete Question Booklet
of the available series.

2. Write clearly the Question Booklet Version Code A, B, C or D in the appropriate space
Provided for the purpose, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg. No., Student ID, Q.P. Code, Question Booklet
version code and affix Signature on the OMR sheet. As the answer sheets are designed
to suit the Optical Mark Reader (OMR) system, special care should be taken to fill
those items accurately.

4. This Question Booklet contains 50 questions. Each question carries 1 mark. All questions
must be attempted. Each question contains four answers, among them one correct
answer should be selected and shade the corresponding option in the OMR sheet.

5. All the answers should be marked only on the OMR sheet provided and only with a
black or blue ink balil point pen. If more than one circle is shaded / wrongly shaded /
half shaded for a given question no marks will be awarded.

6. Q.No. 1 to 40 are in both English and Kannada languages. If any confusion arises in the
Kannada version, please refer to the English version of the questions. Q.No. 41 to 50
are given in English only.

7. Immediately after the final bell indicating the closure of the examination, stop making
any further markings in the OMR Answer Sheet. Be seated till the OMR Answer Sheet
is collected. After handing over the OMR Answer Sheet to the Invigilator you may

leave the examination hall.
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Instruction : Select {

following questions.

mark.

TRUWS 38 3YN o,z
o

e most appropriate option from the provided choices 'for the
All questions are compulsory and each question carries one

AT eﬁojadﬁe:)od aimu RATET cﬁcxbccrozbq e302).
)BT, 3073 L0HO3E), DeTESING. @Qﬂ@?q@o‘jﬁ?ﬁ)ﬁowq?
ST MO, e T3 e BT 03059NTIZES 302 B, %8030

1. What does UPSC stands for ?

A) University Public Service Commission
B) Un!on Public Service Commission

C) United Public Service Council
D)

Universal Public Service Committee
UPSC 938 8oz 9z 9
A) DTNTRO0D SpesFesry sa3nmen
B) cded0ds’ WYF 3arat soowas
C) ooz E8E BYF Zrm PRes
D) D=5 TowrRds Sem xgaé

The UPSC is responsible for recruiting candidates for which of the following
services ?

A) Indian Police Service (IPS)

B) Indian Administrative Service (IAS)
C) Indian Foreign Service (IFS)

D) All of the above

B3 3PN 03E: Reasnen @2,;3?5@‘Fﬁ%3€% JeRIT RNROR weR0oDF) UPSC Re00d 2
A) 300803 RO Feas (IPS)

)
B) 008e0d 3393 Aess (IAS)
C) o88eodd ddezoon el (IFS)
D) &0eds e,
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3. CDS Examination for recruitment in which s . Services
B) Defense

A) Civil Services D) Medical Servi

ces
C) Engineering Services .
QURT FOoDT Semdzadrn CDS ©oed 0308, @
A) SOR0T JeSned
C) Qo000 Fexdned

4. SSC is an organization to appoint staff for
A) Central government

i i Over seas
C) Union territory D
o D
SSC 220000 FeROR xo,"i@qmﬁu.
YAl o > 3

i
CcL

A)
C)

0T, ATF

i
L

0T, BT &3, T3ez

&L

tegory
for General ca
5. What is the maximum number of attempts allowed

candidates to become an IAS officer ?
A) 3 attempts B) 4 attempts e
BRI, BRFS @ OFRR 1AS 5 DFOCIINRL BRI
5,00 T 7

C) 5 attempts D) 6 attempts

ﬁ@a’% 75093"5&‘0

A) 3 B,oD3 s B) 4 B8 % C) 5 m,0308 D) 6 3,038
6. How often Examination is conduct to recruit IPS officer ?

A) Every year B) Once in two years

C) Once in three years D) Quarterly

IPS £052000), 38 BREes am, 10 B0t SEITIET ?

A) T8 TRF B) 3 dme&rﬁmﬁ

C) R0 S&FMeRRS) D) 3,838

SPACE FOR ROUGH WORK
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7. Which of the following is an even number ?
A) 8 B) 11 C) 15 D) 13
BINTINGE, 130 035, 03RO ?
A) 8 B) 11 C) 15 D) 13
8. The HCF of 18 and 24 is
A) 6 B) 12 C) 18 D) 24
18 3080 24 3 .30.00.
A) 6 B) 12 C) 18 D) 24
9. The LCM of 8 and 12 is
A) 16 B) 24 C) 32 D) 48
8 &2 12 S ©.70.0.
A) 16 B) 24 C) 32 D) 48
10. The ratio of boys and girls in a class is 3 : 2 and if there are total 25 students
in class, how many boys are there in class ?
A) 15 B) 20 C) 30 D) 35
2,003 3OS0 TBWONTO BB TIBINCIIT 907303853 3 : 2 NTI = &3 ITRS
23D, DT RF N B0, 25 BNTT, BRSNS TOTINT K08, ), ?

) ed
A) 15 B) 20 C) 30 D) 35
11. The average of 5, 10 and 15 is
A) 10 B) 12 C) 13 D) 15
5,10 =02 15 T X000 @‘-’uow‘?
A) 10 B) 12 C) 13 D) 15

SPACE FOR ROUGH WORK
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SECSB - 502 6 age of Alice ig 30

{
C.)en
12, T | 2o Bob. 11 1he P!
2. Tenyears ago, Alice was twice as old a5 E
vears, what is the present age of Bob 7 78 D) 30 years
) ez
) C) 25Y°€ , ol
A) 15 years B) 20 years 7) ngy . SOF R0 Ty
a2y 630 G
oI w¥

CE;T‘O RN 203, =OT'I & ij'b (ADLe
Lqmomo 30 wwlf-_uou?\uU IO’ 9330 ) - 0 D) 30 u?::n~,;;
A) 15 SZFned B) 20 SRFNY @)

o and the

 decreased bY 10%, what

13. If the price of a shirt is increased by 20
7
is the overall percentage change in the price * y D) 14%
. ; c) 12%
A) 8% B) 10% 58, BE00D, LR

=]
DEFTHBITOTD WTERRT DR, ? . D) 14%
A) 8% B) 10% c) 12%
er?
14. 1f 25% of a number is 40, what is 40% of that numb D) 64

A) 32 B) 40 C) 50

= ?
2,030 K083, 03 25%, 40 8NTT, & R0L; 035 40% T,

D) 64
A) 32 B) 40 C) 50 )

i i io 3:5 and agreed
15. A and B are partners in a business and invested in the ratio 3 g
fit is ¥ 800, how much

to share profits in the ratio of investment. If the total pro
profit does B get ?

A) % 320 B) T 400 C) T 480 D) 3500

fawdo TOOOTRTR D 2R W3:5 0T CISVTARITAISJONDRAD TR BRRT BNRR, WD oY)

X 800 noa, BRRT 0TIBHY, Uaumb 200320033, B @O PN @uo 9
A) ¥ 320 B) X 400 C) X 480 D) ¥ 500
SPACE FOR ROUGH WORK
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: GH; \l: are partners sharing profits in the ratio of capitals. They have investad
\’ \(,( ( l‘ and T 15,000 respectively in a firm. If C's share of profit is 7 3,000,
what will be the share of D's profit ?

A) T 5,000 B) % 7,500 C) 2 10,000 D) Z 11,500

3,000 eﬁtéc'), Dod 33 00 D 9 i
" ed
A) 35,000 B) ¥ 7,500 C) % 10,000 D) ¥ 11,500

17. A car travels at a speed of 60 km/hr, how long will it take to cover a distance
of 120 kilometers ?

A) 1 hour B) 2 hours C) 3 hours D) 4 hours
20T T 03T 60 8. e, Seno BOATT, 120 330e0WT BRTTZ ALY
Qa‘% T30 éﬁmira@ﬁd ? :
A) 1 not3 B) 2 no3nsd C) 3 notdnw D) 4 nowdngd
18. If a train travels at a speed of 80 km/hr, how far will it travel in 2.5 hours ?
A) 180 km B) 200 km C) 250 km D) 300 km
2,003 e 10N 80 .60¢. enc) BORTT, BT 2.5 Tot3nve), D) TR WIS ?
A) 180 3.0e. B) 200 &.&we. C) 250 3.2we. D) 300 3.20e.
19. A shopkeeper bought a shirt for ¥ 40 and sold it for ¥ 60. What is the profit ?
A) 20 B) 30 C) 40 D) 50
220, ©0NGODII0 X 40 § Bex'r D0eOR, T 60 § 00T, LEIN A0 oY D, 2
A) 20 B) 30 C) 40 D) 50
20. If the cost price of an item is ¥ 75 and the selling price is X 60, what is the loss ?
A) 10 B) 15 C) 20 D) 25
2,003 BRI T30 LS 75 w02 RR0KEA WS 60 SN3T, BT I AT ?
A) 10 B) 15 C) 20 D) 25

SPACE FOR ROUGH WORK
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Directions (21 - 24) : Study the following chart and answer i rarnily in percent.
enditure of @ me of

The pie chart given here represents the domestic exp \al monthly inc®
Study the chart and answer the following questions if the 10
the family is 2 30,000.
Provident
Fund
2 | o
Medical
13%
Child Education
239, House Rent
18%
Car
9%
3 2 RIS @’U’é@re\)
3RS (21 - 24): B 30N 1w 6,008 BRa 8 DI o 43y SPE
) oW W
QO DBRT T, 2L Beb00T SEER) BT, T GRS wff@ = oson
a =
©3201 R 30,000 SAGT, w5EsF ey ©5,0hs ©RE R0z FINT BFNTI TS
s, 00
12% &0
3,33, 50 25%
13%
Sﬁd%" éiﬁ‘a DI iR

23% 18%

T30
9%

21. The house rent per month is

A) ¥ 5,400 B) ¥ 1,800 C) ¥ 3,600 D) X 7,000
SONY I BN aﬁ&i @a’% 9
A) % 5,400 B) ¥ 1,800 C) % 3,600 D) ¥ 7,000

SPACE FOR ROUGH WORK
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- The food expenses per month is

A) 37,000 B) 3 7,500 C) ? 8,000 D) 2 8,500

SONS BT 35@:%9

A)R7000 By 37500 C) % 8,000 D) 7 8,500
23. The total expenditure of Medical and Provident fund per month is

A) R 7,000 B) X 7,500 C) % 8,000 D) 28,500

Sond 3 seodd wHxy BT, DOOD b 5,

A) X 7,000 B) ¥ 7,500 C) % 8,000 D) % 8,500
24. The Car expenses per month is

A) X 2,000 B) ¥ 2,070 C) 2,700 D) % 9,000

E0N% 503 ﬁz\i DT 9

A) 2,000 B) ¥ 2,070 C) X 2,700 D) % 9,000

25. If the principal amount is X 1,000, the rate of interest is 5% and the time is

1 year, what is the simple interest ?

A) T 50 B) 100 C) T 150 D) % 200
e 1,000, W& T3 5% @ﬁd@d, 1 m-iréd oY B aa:ow ?
A) T 50 B) ¥ 100 C) T 150 D) % 200

26. If the principal amount is ¥ 2,000, the rate of interest is 10% and the time is
2 years, what is the simple interest ?

A) 3500 B) ¥ 400 C) X 200 D) 100
©Re0 X 2,000, w%zﬁcﬁ 10% wﬁd@zﬁ, 2 waﬁrﬂé pyfor w&%m‘-’%‘?
A) ¥ 500 B) ¥ 400 C) X 200 D) ¥ 100

27. At 3 PM, what is the angle between the hour and minute hands of the clock ?
A) 90 degrees B) 30 degrees C) 45 degrees D) 60 degrees
abc;aﬁq 3 nodn, NR3NTT noes PO RVARE BOIONY TR Fees DR, 7
A) 90 &n, B) 30 &n, C) 45 &n, D) 60 &n,

SPACE FOR ROUGH WORK
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a 24 hours peroc

~ ) - o n
=6 How many times do the hands of a clock coincid D) 24

/\) 11 "\)) 1/) (‘,) 2? - '_)’)J 3 e s
PR wtsd s 24833 wd —j)r I ol d -0
L.J NOWINY sZOoHY . T WD RROINTT MO #5277
RSN (R \ij?\ ? D) 24
A) 11 B) 12 C) 22
2( s 7
<9. If today is Thursday, what day will it be after 7 days D) Monday
A) Friday B) Saturday C) Sunday
i - e 9
DO fodomdmﬁfio’, 7 O3NS S03T 035393 DFNIZE D) Znesims
A) 28,53 B) 3293 C) om0
. ear ?
30. How many days are there in the month of February in aleapy D) 31
A) 28 B) 29 C) 30
S8 SRS P30 0w amd, ASHT QT ? "
A) 28 B) 29 C) 30 )
31. If ‘CAB’ is coded as ‘312, how is ‘BAG’ coded 7
A) 312 B) 514 C) 415 ) i
CAB’ &) 312'20%h 3new 3nacd, ‘BAG! ), BN TR SRBUINIBA ?
A) 312 B) 514 C) 415 D) 217
32. If Alis the brother of B and B is the sister of C, what is the relationship between
Aand C?
A) Father-Daughter B) Brother-Sister
C) Uncle-Niece D) Mother-Sister
A Tz0> B 838 380e50 208 B 82300 C 838 Nﬁmecﬁboﬁmdd A 2030 C I@023
K00 9
A) 2oT-=onsd B) Ax0em8-380e30
C) 3 28T -RR% D) o0 -FBRemd
SPACE FOR ROUGH WORK
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33. Ifyou stant fac ing north and turn 90 degrees clockwise, what direction are you
facing now 7

/\) North B) East C) South D) West
AR 'I‘L m 1@5‘,\ Shi "j)(—jg,-ﬂw“'“{\ 90 @n, STOHNTIT, oin uu» o) WIoS
::\.":r )Q 7
A) wo3u B) ons3r C) o8 D) =475
r -~ (9 s

34. Choose the Venn di
following question

Women, Teachers, Doctors

agram which best illustrates the three given classes in the

35. If the letters in the word ‘COMPUTERS’ are r
letter will be in the middle ?

A) M B) O C) P D) T

‘COMPUTERS’ @309 UTONTIY, SoT), R0 Irarzneiodd 3,R0T¢

DUERRATI, 0w 30w mcs a’e‘)cbe’d 9
A) M B) O C) P D) T

SPACE FOR ROUGH WORK
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36. Whigl y
oo v number comos nay in the series ?
2, 9, 10, 17, ..
A) 25 B) c) 27 D) 28
:‘ru ‘1‘)6 avh) L) 0T W W o4 M:"yﬁ) 9
2,5, 10, 17, ...
A) 25 B) 26 0) 27 D) 28
37. Find oul the alternative figure which contains figure (X) as its part
T R
D SQD U= EE]
(X) M @ e @
A) 1 B) 2 C) 3 D) 4
eﬁm BT NN BRODTIT BOTTFOD 24 wE,@), BOA
=9 L-
H]a.%a th
2 © @
A) 1 B) 2 C) 3 D) 4
38. Choose the correct mirror image of the given figure (X) from amongst the four
alternatives.
(X) M @ © @
A) 1 B) 2 C) 3 D) 4
SRLSTOE ) BoSNYY , e, (X)3 BO0RE TR ®,SWOUTDY SO
(X) mn @ @ @
A) 1 B) 2 C) 3 D) 4
SPACE FOR ROUGH WORK
A
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30, Choose the alternative
combination.

NUCLEAR

1. BYEICuUn
2. NMNCIEVH
3. MUCravy

which is closely resembles the water-image of the given

4. NNCTEVH
A) 1 B) 2 C) 3 D) 4
SREIE SoRRYY  NUCLEAR 3 x00ing RO B, 3WONTI), BOR.
1. BYEICup
2. UNCIEVR
3. MUCIrave
4. UNCTEVK
A) 1 B) 2 C) 3 D) 4
40. ldentify the figure from the alternatives that completes the pattern (X).
‘ 2% M)/
(X) (1) (2) (3) (4)
A) 1 B) 2 C) 3 D) 4

SRR oY, w53, (X)), Fpror RevRE w3, 8aDm), HHches.

@ @

SPACE FOR ROUGH WORK
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41, What s the

Opposite of “Late’ ? D) Punctua|
A) Early )

B) Tardy c) Delayed

‘"12 —\ ) S
Choose the correct sentence:

A TR , es.
}) Alter finishing hig homework, John played video games
e o r.
) His homowork linished, John played video games afe
©) John finished his homework after playing video games:

D) John video games played after finishing his homework.

—

n

3. I:HdS‘he €ITorin the sentence: “She don't like ic.e cream. D) Cream
) She B) Don't C) Like
44. The sun sets in the

th
A) East B) West C) North D) Sov

45. What does the Phrase “Break the ice” mean ?
A) Melt something frozen

B) Begin a Conversation in a social setting

C) Create a barrier

D) Complete a task quickly

46. Complete the following sentence with most appropriate option :
There was a in the garden and children were reading
A) tree; books B) rain; stories
C) darkness; playing D) wind; sleeping

under it.

Direction (47 — 50) : Read the following passage and answer the questions:

Passage:

In recent years, there has been a growing concern about the impact qf plastic
pollution on marine ecosystems. Plastics, once considered a convenient aqd
versatile material, have become a major environmental threat. The oceans, in
particular, bear the brunt of this issue. Plastic waste, such as bottles, bags and

micro plastics, end up in the oceans, posing a serious threat to marine life.

SPACE FOR ROUGH WORK
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: alany 2 wildlife that
Plastic waste not only contaminates the water but also affects the wildlife i

| | tesh 7 slaatie ] "j r )},

nhabits these ecosystems. Marine animals often mistake plastic debris for food
. ' rid " A agatic

eading 1o ingestion and potential harm. Additionally, the accumulation of pla

wasle in the oceans contributes to habitat destruction and disruplts the delicate
balance of marine ecosystems.

Efforts are be
single-use pl
consequenc
environment
solutions to

INg made globally to address this issue. Initiatives for reducing
aslics, promoting recycling and creating awareness about the
es of plastic pollution are gaining momentum. Governments,
alorganizations and individuals are working together to find sustainable

miligate the impact of plastic pollution on our oceans.
Questions :

47. What is the primary concern discussed in the passage”?
A) Deforestation

B) Air pollution
C) Plastic pollution in oceans

D) Soil erosion

48. How does plastic Waste affect marine life ?

A) By providing a hapitat for marine animals
B) By promoting the growth of marine plants
C) By contaminating the water and harming wildlife

D) By contributing to the diversity of marine ecosystems

49. What do marine animals often mistake plastic debris for ?

A) Rocks B) Plants C) Food

What are the global efforts mention
pollution ?

A)
B)
C)
D)

D) Coral reefs

ed in the passage to address plastic

50.

Initiatives for increasing single-use plastics
Promoting the use of more plastic in daily life

Reducing single-use plastics, promoting recycling and creating awareness
Ignoring the issue and letting it resolve on its own

SPACE FOR ROUGH WORK
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